Efficiency vs dr

x 0.2
<
©0.18
20.16
c
Q
50.14
=
®0.12
0.1
0.08{H
0.06
0.04
0.02
of

[ fake+duplicates vs AR |

y 0.1
<
©0.09
[6]
go.08
£0.07
g
£0.06
o
30.05
p
5004
0.03
0.02
0.01

1.4H{-[==— DQMstep3_SoftQCO_CKF
’ —e— DQMstep3_SoftQCD_default
—— DQMstep3_SoftQCD_defaultNEWT3

Ratio

LT I T Ll

1078 1072 0%

TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
1Q

Ratio

1.

1

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

5 0.01
o

9.009
3.008
(]

®.007
=

9.006E
0.005
0.004
0.003
0.002
0.001}
) PP I T P [ T PR [N O TR

Ratio
e
o

2 4 6 8 10 12 14 16 18 20
Pileup

O rrr

1078 1072

I[Ilh

track min AR

[ fake+duplicates vs AR(track, jet) |

= 0.0
Q
9.009
Q

Ratio

006

o

©

a
TTTTTTT

1073 1072

1
AR(track, jet)

[ fake+duplicates vs PU |

500l F———————
at S S W
D009 oo
%)-008_—“'5 """ R e S AR SRR
TV S T
T : : : : : :

UG e R SR SR AR
[=3 T

L St S S
+ : B B :

%-004—“'5 """ R SR AR A
0008+ v oo
0.002f- <-4+ eee e :
0.001

Ratio

L

0.95

0
UJ

1

il

0.9,

(@)

Pileup

2 4 6 8 10 12 14 16 18 20

-1



	Contents
	Page 1


